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Cluster: 0003 mpn; resid: 0.27; r/c: 8/115

x.range

upstream meme PSSM #1; e=0.59

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 161 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=630

1 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 6
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hypothetical protein: MPN578−1.03

hypothetical protein: MPN103−4.05

hypothetical protein: MPN371−4.22

hypothetical protein: MPN040−4.25

hypothetical protein: MPN098−4.74

involved in cytadherence: MPN102−5.21

hypothetical protein: MPN486−7.14

hypothetical protein: MPN131−12.48

log10(P) upstream meme1 2 log10(P.clust)=−5.39; 8 seqs; 8 uniq
c(0.5, 2.5)
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